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6.5 Linear Trigonometric Equations

By this time, asking you to solve a “linear equation” is almost an insult to your intelligence. BUT
it is never an insult to ask you to solve problems with math. Instead it is a special treat to be able
to spend time thinking mathematically. And so, you’re very welcome.

e.g. Solve the linear equation

3x—-4=9
gih (@:)
=2 S = T +4
‘____!? 5?(_ - 16
13
X = "?_
Example 6.5.1
From yourtex]t:)F%yél.z—HrG"/_—7 Zavrans
For 6 €[0,277, solve the linear trigonometric equation
. 1 .
a) sin(6)=—= exactly, and using a calculator.
) sin(0) 7 y g
EyACT CALC UL
) (Q\ Q> A ATaY

| b2 Nds: 9 ﬁv oo Ul ne
iy B a’ﬂu = b ‘j‘ﬁ W /s ket [
&

\
Q@
b DN/ ‘ o=
T S ’R“r Sun(0) - CUW\ .
9> T PO e e
. ‘—T">9-:SW\/&) ) —.—EA@"{'-—UL
D, = 3 | )
\ 0, cos(9)= >\ } QLT
Q@ @)= 5 = g-ex'(), ©
Q- S-hu\( i\f:?—) " | \ | ’ anle) = »
v, Toel
150 U= 0785 = B e ()

D12 0985, @, - T - 0385



e) cos(0)= L exactly and using a calculator.
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Example 6.5.2
From your text: Pg. 427 #7
Using a calculator, determine solutions for 0° <6 <360° Note: our Domain is in
a) 2sin(0)=-1 :\ Degrees!!
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0 =
c 228 = 51%. 20

d) —3sin(0)-1=1 (correctto one decimal place) (' 5 . LD,
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Example 6.5.3
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From your text: Pg. 427 #8
Using a calculator determine solutions to the equations for 0 < x < 2r.

a) 3sin (x) =sin(x)+1 G radins
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Example 6.5.4
From your text: Pg. 427 #9f Ny}[gf

Solve for x €[0,27]
8+4cot(x)=10

=> A\'Cﬁ%(‘;k} = 2
= (_o‘(z) = \g_
=7 J(a\(:k) - Z le‘%

= X J[a(‘(z)
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Class/Homework for Section 6.5

Pg. 427 — 428 #6, 7def, 8, 9abc
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